aanils i

2 DEDBIX LY DB, BEX I, +OMOEN a, —DLHbTHY, Y
&, +ORDBH b, — DRI 0 THB. 1FEL, a<bbF 5,
COEE, (1)~4) ORBICEZEE L,

(1) 208X &Y O XY & a, b ZEHNTERLEI L,
(2) ab= 6,02 +b* =37 DL E, KXY DZRDE I,
(3) 2) DL ¥, BYHX ZRDIETEI WV,

(4) XY A4 2268 D & =, BHX ZRDE I,

: EER)
K=100+b o< b
/
\\: ERE/N
d XY: f’fj'""‘* X’«;) (’ bt &) ‘
= (o0eb +r1ope £ obZ 4o b
= (Olab+jopzt10b® 4 10]0b+fon*+0k
(2 U\J ¢ = -
DU op x bt (0% 37 = 60 b=+ 370
- 97t 4,976
P ) ) Fi “ o
((j} :/ n = ( Y Bz j T dn g [\2 - Lz oy {rf K ;;N“‘t ,)‘ } (:é‘

% %\:}2‘:—?&}' - LL!— ~?)\71‘)L—€73'6:‘O = ( bz__\!>(lot_,36):0 {7;.(;]‘
bt ) (b=1) (b6 (b=6)=0 ELT , b=] , b, b>|ass ach bebarias]
A< b1y p=b,a=1 749 Xx=[b b

€ o
' D b=b7y Cab) = (16) (2306 LTRSS
) 2048 = 22x3%x ] o<b : (16} (2308 LLG

) S U AR

DT s by k% acks x=36 b3

1 % http://www.mathtext.info/



